SH1(2019) 58 1HIBEREER

[F4 -4 -ERDOKK]

2PN RIS

WbiGIRS B S EE (Bf7: A)
M2 ;,— = A P = f i
R, roeR| WA | v R e
=an bR 120 5 1430 1] 490 529 301 228
v AOaS 2=l — gl R 60 3[ 610 11 246 220 155 65
2 B R D PR R 60 51 720 21 250 306 152 154
F-EHREHE R 70 10] 81[ 21 300 311 124 187
B 310 231 357 61 1,286 1,366 732 634
[ NIEfmA B TH L
WL L RS SR (Bpr: A)
A N =1 ;,‘g e N =] f i
FRA NFEER fﬁé\éjﬁ NFEH | INEEE ?-3 =
TR TR 70 5/ 5210 11 290 257 37 220
il 70 5[ 521 11 290 257 37 220
[ NIEfmA B TH L
BItEIL RS AR (Bpr: A)
N2, s AL} el e =1 I i
Sk NEER| AEE |EER - -
T EHRIEBEHIK 10 0 10 0 0 0
i 10 0 10 0 0 0
BItiGIL RS KRG (BAZ: N)
A = AN Pt = z i
BFIERL 4 4 ropwa| arg |naes ﬁ% -
BRI 9 0 18 1 1 0
¥ <
SURSAEHTTER W R O FR S B A 5 5 10 13 7 6
il 14 5 28 14 8 6
|l 5E Nt (HLAT: N)
Al o Al =1 AL o = f i
sl 4 arwa| agg |naes E% -
hIRBEFR 100 92 200 179 3 176
WEAIET AR 100 73 200 153 1 152
SRt 70 68 140 123 8 115
Gl 270 233 540 455 12 443
W LUVE LRSI BR CAYN
ALY = AL} Pl e =1 f i
I AR A%E |aEs ﬁ“% —
FEMTEHIL 15 10 15 30 3 27
Gis 15 10 15 30 3 27
| e e v N T e oy i (HLAT: )
FEB AL s = E /':'\
X 4 IER e s R ﬁ% -
S =29 A Hf s (22123 199 870 661 — 661
'&L‘/\ 250 J—
Hh R 90) 46 750 134 134
W LR TE LRSI R SR A S HE LR CTAPN)
N2 B Pyl el = f /I:'
X s AwwE| AEE |aEE E% o
Lk 70 64 200 182 102 80




2PN RIS

€:4:9=10279113)
BHETE (HA7: N)
B T
B o | e | - KRR T I He i )
o | B | e AD By # Lo T o 5
KT 37 21 8 5 71] %3 146
F R s 12 8 4 1 1 26] #3131
i $¢1(7) 48 48 25
W $1(2) 16 16 7
HHER] %2(2) 8 8 7
Gin 49 29 12 1 6] (11) 72 169 -
#1( ) IXEEER T
%2 () ITHIRRA E BTG TN EL
3 MES KL
B E5EE (BT N)
B T
VAN o
% 2 wpma| wn | wwwr| zom | oz | FED
BN R 4 4 2
LA = 0
TR 3 3
g%éﬂﬁ;ﬁ%”ﬁ 37 2 39 9
N PN 0 20
e ARG R | 1) 7 7 5
HHER 0 2
=t 51 2 0 0 53 38

X1 () IZREER TR




